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Instructions : (1) All questions are equal marks.

(2)  All questions are compulsory.

1. Give meaning of Social Demography and discuss its subject matter. 14
OR

Discuss the importance of Social Demography.

2. State the importance of Population on Census in relation to Social Development. 14
OR

What is population Census ? Discuss its origin and development.

3. Investigate the importance of literacy and education on in Social Development. 14
OR

“Illiteracy is a Social Problem.” — Explain.

4.  State the achievements and limitations of family welfare program. 14
OR
State the reasons of high fertility in India.
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5. (A) Fill in the blanks :
(1) Family Welfare program started in the year .
(1951, 1952, 1953, 1954)

(2) Health depends on .

(Nutrition, Clothes, House, Education)

3) happens due lack of nutrition.

(Anemia, Malaria, Jaundice, Diarrhea)

(4) Lack of Vitamin causes blindness.
(‘A” ‘D” (C” (E’)

(5) Teenage means
(13to 19, 14 to 21, 8-14, 15-25)

(6) The word “demography’ has its origin in language.
(French, English, Greek, Sanskrit)

(7)  The founder of Social demography was

(Stanford, John ground, Causer & Dancan, Lorrymer)

(B) Choose the correct option :

(1) Fertility age limit ______ (25 to 55 years, 15 to 45 years)
(2) Maximum life expectancy during 2011 _____ (75 to 85 years, 66 to 65 years)
(3) No. of women in organized sector ______ (48%, 18%)

(4) Daily Calory of Women ______ (2300, 2400)

(5) Average Marriageable age in India ______ (25 year, 18 years)

(6) Female Literacy in 2011 ______ (85%, 65%)

(7) National Policy for senior citizen ______ (1999, 2009)
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